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Multiple Choice Questions:

Working population comes under the age group of 15 to- (60/ 65/ 70).
Population grouped under 0 to- (15/ 16/ 17) years are called adolescent
population.

The- (census/ birth rate/ death rate) provides precise information about the
population and its demographics.

The census of India began in the year- (1871/ 1872/ 1873).

Every- (9/ 10/ 11) years the census is revised.

The number of females per- (10000/ 1000/ 100) males is known as sex-ratio.
(Urban population/ rural population/ sex-ration) is an indicator of
development and improvement in the socio-economic conditions.

(Over/ under/ optimum) population is important for the development of the
country.

Undernourishment is the result of shortage of- (clean drinking water/ food/
deforestation).

Between 1347 and- (1349/ 1351/ 1353) Europe was ravaged by the disease
called the Black Deat.

The epidemic Black Death was transmitted by the black- (bat/ cat/ rat).

It took Europe around 100 to- (150/200/250) years to recover from the
epidemic of Black Death.

Europe’s population almost grew by- (two/ three/ four) times between 1700
and 1800.

The sudden increase in population is known as population- (change/ density/
explosion).

The reduced death rate is because of- (increase in birth rate/ medical
advancement/ migration).



